
Name: _________________________  Date: ____________________ 

Integer Exponents Notes  
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A. What pattern do you see in the powers of 5? ____________________________ 

________________________________________________________________ 

B. What pattern do you see in the powers of 4? ____________________________ 

________________________________________________________________ 

C. What pattern do you see in the powers of 3? ____________________________ 

D. Complete the table for the values of 50, 5-1, 5-2 

E. Complete the table for the values of 40, 4-1, 4-2 

F. Complete the table for the values of 30, 3-1, 3-2 

Reflect: 

1. Make a conjecture: write a general rule for the value of a0  __________________ 

2. Make a conjecture: write a general rule for the value of a-2_________________ 

Practice:  

A. 2-5 ____________________  B. 5-4 ____________________ 

C. 10-3 ___________________  D. -2-5____________________ 

E. 2 – (2-3) ____________   F. 4 + 3(4 – 90) + 5-3 ___________ 
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Exploring Properties of Integer Exponents  Date: ________________ 

A. Complete the following equations: 

3 • 3 • 3 • 3 • 3 = 3 

(3 • 3 • 3 • 3) • 3 = 3  

(3 • 3 • 3) • (3 • 3) = 3  

What pattern do you see when multiplying two powers with the same base? ________ 

________________________________________________________________  

Use your pattern to complete this equation: 52 • 55 = 5 

B. Complete the following equation:  

 
45

43
=
4 • 4 • 4 • 4 • 4
4 • 4 • 4

=
4 • 4 • 4 • 4 • 4
4 • 4 • 4

= 4 • 4 = 4  

What pattern do you see when dividing two powers with the same base? __________ 

________________________________________________________________ 

Use your pattern to complete this equation: 
68

63
= 6  

Complete the following equations: 

(53)2 = (5• 5 • 5)       = (5 • 5 • 5) • (5 • 5 • 5) = 5 

What pattern do you see when raising a power to a power? ____________________ 

________________________________________________________________ 

Reflect: (Let m and n be integers) 

3. Make a conjecture: write a general rule for the value of am • an  ______________ 

4. Make a conjecture: write a general rule for the value of am

an
,a ≠ 0____________ 

5. Make a conjecture: write a general rule for the value of (am)n  _______________________ 
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